


Bill has a bat. His bat is big. 1. Billhas a bat.

O blue (O big O ball

2. Bill has a yellow cap.

O true () false
Bill’s dad will toss the ball to Bill. 3. Dad has the

Bill has a cap. His cap is red.

Bill’s dad has the ball.

Here comes the ball O bell O box O bpal

4. What will dad do with the ball?

Bill did not hit the ball. He will toss the ball
back to his dad.

Bills” dad will toss the ball.

5. Bill will toss the ball back to his

O pa (O dad (O mom

Bill sees the ball.

Bill will swing the bat now. 6. Bil the ball.

Bill hit the ball! 7. Bill will the bat.

Dad did not catch the ball.

8. Why is Bill happy?
Bill is happy he hit the ball.

Will dad toss the ball again?
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